153Pm

Z =61

N =92

adopted link

ENSDF link

Based on ENSDF from Oct 2022, and mass evaluation from 2020

BE = 1257.837 ( 0.009) MeV
Qbeta- = 1.912 ( 0.009) MeV
Energy T J+ J- J-other T1/2
153PM 1 | | 0.000 5/2-| 1 5.256 M
153PM 2 | 0.032 5/2+ | | 2 1.2 NS 1
153PM 3 | | 0.066 7/2-| 3
153PM 4 | 0.105 7/2+ | | 4 0.44 NS 2
153PM 5 | | 0.151 9/2-| 5
153PM 6 | | | 0.199 (9/2+) 6
153PM 7 | | 0.253 11/2- 7
153PM 8 | | | 0.311 (11/2+) 8
153PM 9 | | | 0.377 (13/2-) 9
153PM 10 | | | 0.431 (13/2+) 10
153PM 11 | 0.451 3/2+ | | 11
153PM 12 | 0.507 5/2+ | I 12
153PM 13 | | | 0.512 (15/2-) 13
153PM 14 | | | 0.560 14
153PM 15 | 0.586 7/2+ | | 15
153PM 16 | | | 0.628 16
153PM 17 | | | 0.678 (17/2-) 17
153PM 18 | | | 0.682 18
153PM 19 | | | 0.706 1/2+,3/2+,5/2+ 19
153PM 20 | 0.771 5/2+ | | 20
153PM 21 | | | 0.780 3/2+,5/2+ 21
153PM 22 | 0.791 3/2+ | | 22
153PM 23 | I | 0.845 (19/2-) 23
153PM 24 | | | 0.850 (7/2+) 24
153PM 25 | | | 0.935 25
153PM 26 | | | 0.960 (3/2-) 26
153PM 27 | 0.967 7/2+ | | 27
153PM 28 | | | 1.000 (7/2-) 28
153PM 29 | | | 1.014 29
153PM 30 | | | 1.019 30
153PM 31 | | 1.022 7/2-| 31
153PM 32 | | | 1.051 (21/2-) 32
153PM 33 | | | 1.113 (1/2,3/2,5/2)+ 33
153PM 34 | | | 1.115 34
153PM 35 | | 1.152 11/2- 35
153PM 36 | | | 1.161 36
153PM 37 | | | 1.176 37


http://www.nndc.bnl.gov/ensdf/getadopted.jsp?nuc=153Pm
https://www.nndc.bnl.gov/ensdf/
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